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Paper / Subject Code: 80701 / Python Programming

L’
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(Time: 2% hours)

N.B.: (1) All questions are compulsory. RO S SESEIEN!
(2) Makeguitable assumptions wherever necessary and state th umptions ma
(3) Answers to the same question must be written together. < $ D B ST
(4) Numbers to the right indicate marks. TGN Y 2T 9 S .
(5) Draw neat labeled diagrams wherever necessary. )
(6) Use of Non-programmable calculators is'allowed.

Attempt any three of the following: m R S RN LS S o 15
Explain the features of Python Programming o« 5.5 S o s AR AT ARG
What is variable? What are the rules an;l-.cgnyéﬁﬁbﬁs*"?{)pld_efcI&ijﬁ_g‘-‘gﬁi/ai‘.iable? AP
Explain if—else statement with an gaamnples » 005 S S S PN AR

Write a Python program to print factotial of 4 mumber. Take input from user. .

Explain continue statement with :h\n:_.qxamm@,;‘j‘; AL S S & L O
Write a Python program to calctlate ‘area of triangle and circle and’ print the result.
J Take input from user. el T QU AD P Sy B D ot

e RS o
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«  Attempt any three of the following: . - O S ANE P S 15
Define function. Wri;ex'gg&;zh;)ﬁt-fgd_@ﬁhé;fdﬂ@tibﬂa Give example of function definition.
What is actual and fpi:ﬁé;i‘-pﬁtam?tﬂ?:ﬁ;pléhghe difference along 'with an example,

Write a Python pmmﬁd@ﬁf@\fa&oﬁﬂ'Qf"gi‘i?gn‘rﬂfuﬁbérgﬁgiﬁglrécursive function.
Eryss the diffbrence betweet local and global varjable:” -+

oxplain any five basic operations perforined o string. -« -

Write a Pythion program to check whether a striig i palindrome.

e o0 op N

Attempt_‘wgﬂf:tﬁe{bﬂbwing': PSSR
Whatare lists? How to defi ne and access the elements.of list?
Wntqa‘prggtamtmﬂpnﬂanth tupes and intérchange the tuple values.
Explain directory methods in Python. - -, -

~How o ereate dictionary in Python? Give example.

- Explainidifferent modes of openinga file, -

oy

15

.

A Wﬂ‘teaP;\thgmpfogram 1o accept an jnteger number and use try/except to catch the

exogption if-afleating point number is entered.

‘mo Ao op w

Lo ey A

ree of the following: =

W e L:st&nﬁ\eXplj;u}lja}nanclassatmbutes with example.
7 How 1:0“51119911el'a:m)?:luie‘1 Explain time module.
\Whatisn{umthrsﬂdmg‘?}{ow to create a thread?

e ~Besggmaol§ss f,t_ﬁaf—}_;{)':rme;ihé information of student and display the same.

sy L
e,
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5.  Attempt any three of the following:
Write a Python code to create the following GUL:

s

mo oo o

Writ qu;ngs hasac}; N
i & Display’ AIMﬂgﬁ}B and pn(’:c value ; '

" Display;the item information w”hose;wname &tarts with letter p.

stplay item name, Whose price is in bctween 50 to 100.

Disgaysoﬁpanformatlan, LSS R

Remo Qgﬁﬁmfamanon, EFR A
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N. B.: (1) All questions are compulsory.
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Paper / Subject Code: 80702 / Data Structures

(2% hours)

(2) Make suitable assumptions wherever necessary aﬁd, :
(3) Answers to the same question must be wrltten_ il"' ther.
(4) Numbers to the right indicate marks. w
(5) Draw neat labeled diagrams wherever nece 5:

(6) Use of Non-programmable calculators i is M‘.‘“
Attempt any three of the following: .y =
List and explain the different asymptotic notatior 1 structure
What are the different ways in which data$tructur eiagsified‘?;Eﬂ",_ iin
What do you mean by complexny of an. "lgorlfhm ) Explain its fypes:  «

15
in linked list.
Write an algonthm} : e
Write an algorltlu‘i&f riseﬂ,agsél’
Write and exp 111: "
Explain the différer
15
15

118

reat a.heap 1 of’jthé ven
y tfe& frorn its morder and postorder traversals.

"_‘Sax’t the FollbW1ﬁg elements using selection sort.

7 8-‘-:‘.1"3:‘ 44 5 28
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- What“ate hash table and hash

“_

Paper / Subject Code: 80702 / Data Structures

Write and explain the algorithm for finding a position of ajgen
in a binary search tree. .

Write the algorithm for inserting in a node in Red—Bhi l;‘. o

Attempt any three of the following: STETeN =
What are the different ways to represent  in_meng =

Write and explain the algorithm for best search ina 3
Using Prim's algorithm find the minimum S;ﬁnhgh_( P

b -~

1. Graph,§*. ™" YA A ARSER
- e AZE A e e 2l v‘
2. Weighted graph BF AT
F - {,’_-;'_3_.‘-"__ i i
S es
A 3

on tech P

¢ 1d hasl ﬁ“lctjoﬂs"féih folding method and mig square
stfuctinig hash functions. —

Explain ari two collision résoluti niques.
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Paper / Subject Code: 80703 / Computer Networks

g SUBSC 1t  Sem-T

(Time: 2% hours)

N.B.: (1) All questions are compulsory.

(2) Makesuitable assumptions wherever necessary arli‘i tate t
(3) Answers to the same gquestion must be wrltten tggg_t_m :
(4) Numbers to the right indicate marks.
(5) Draw neat labeled diagrams wherever n ecegsag;_
(6) Use of Non-programmable caqulators is. gm,gg
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1. Attempt any three of the following:
a. Explam the types of transrmssron modes for data ﬂow_
b. /
c.  What is Shannon capacity of noisy channe.l? b
The sngnal-to—n(nse ratlo is given as BGdB and the channel
B
2. 15
a. t
b.  Define FHSS (F rgqﬁép&yﬂoppmg SpreadSpectmm) Ex" lam hbw |t achleves bandwidth sharing.
g; Dlscuss the advaﬁt‘ages_anﬂ‘dlsadvantages cf optlcal ﬁbe
d.
c.
4
15
Attﬂﬂ[ﬂ: 11y i \ ! 15
& Llst and eiplam the Semces prev:ded by network Layer.
_:ba. .Wrxte short Hote on Nw . (Nétwork Address Resolution)
P : [TURN OVER]
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What is fragmentation? Discuss the three fields in an IP
How to overcome instability in distance vector rout

Discuss different timers in RIP (Rout
Differentiate between IPv4 and IPv6.

c.
d
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Explain the process of transferri

d

Wi(&

Explain the architecture of World
Briefly explain the different

c.

Lo
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SuBsc it Sem-TIT

(Time: 2% hours)

N.B.: (1) All questions are compulsory. g S
(2) Make suitable assumptions wherever necessary and state:

(3) Answers to the same question must be written together, ~.

(4) Numbers to the right indicate marks. RS e B

(3) Draw neat labeled diagrams wherever neegs Ssary

{6) Use of Non-programmable calculators is allowed. |

Aftempt any three of the following: S
WIH is the role of DBMS? What are its advantages ovef file system? -

w storage system and query processor components ofdatabase ructure

.

* it is a business rule? What is its pufpose in data modeling? =
Write comparison between hierarchical, network & relational model;
List and explain Codd’s rules in detail. BT D S TS
Explain ER diagram and its components. Give the distinction between disjoi .overlapping,
total and partial constraints. Draw E-R diagram for the following Situations that correctly
models this domain and its conStAaIt,C 7 o3 c VD S = RO
A small racing league want a.database to keep track of teams; drivers; races and scores in
the league. The league is.run for teams, which are identified by their names. Each team has
ome or more drivers sighed up, and edch driveris registéred with the league and has a unique
league licence number, First and last names c‘?;‘i't}'thefdf‘ﬁfﬁrfs"éﬁéﬁlg;l'.a"l'édgh'e included. A driver
may only parﬁcipgfé‘_gf’ : "éfSiﬁglé‘_tﬁ_ah"l’-thlﬁt}':yghtfiuﬁt ;\h.a’isléaths_g_‘h».-.‘:‘l%éiiéév are identified simply
by the dates when;ﬁﬁy‘k ¢ run. Foreach race; the [¢ague also‘wants to store the venue where
it ook place. Drivers participate in races, and for each participating driver the database

should store;i_‘ii@té?aﬁ*iﬂ-ééfe*fimg'ifor' that driver, and the Teague score they got from that race.

ot

2. Astempt ‘—’.'t;h'.\'ée*:‘.qﬂgheafolllqwili'g: (T e 15
{ a Wllyg'i-,ﬁm}ty1ntggmyandreferentlal integrity important in a database? Explain in detail.
. b EI*E“ why normalization s _necessary- in database system & also explain database

v somalies indetail,,
!
:

Youare given the folloting set of functional dependencies for a relation R(A,B,C,D,E,F),
~ B{ABSC DCSAEESF) o o
- & What are the keys of this relation? = -~

s :‘E s this Iﬂﬁﬁlm CNF2IE .hot;':éxpl_air.] why by showing one violation.
;"Ai'\._!'f,._;fi_r'_sifgljc,_,lﬁécpmﬁds'j.ti‘(ﬁn?;\(A,ﬁ.‘B,’;-IC_, B) B, C, D, E, F) a dependency preserving
o . dego jﬁj}ﬁ'siﬁ@ﬂIZ'_“’I'ﬁljﬁb't'zl\\éxp!‘ain_ briefly.

- & Write short note on Cartestari product with its syntax and example.
- & Explain SET operators in relational algebra with example.

e ‘Exahxufahnﬁldefmltians with safety of expressions of tuples relational calculus,
T State'the difference between relational algebra and calculus.

-

BT e

SR S A T T A Y
3. Attempt any three of the following:
&S _';M@j‘;fcghs,tfaiﬁts?»%ét are the different types of constraints? Explain.
“b. When can a view be updated? Explain the syntax of updating a view. Also state the
- difference between views and table.
P S S S IR [TURN O
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Faper/ Subject Code: 80704 / Database Management Systerg;:: i

¢ Consider the relations :
Worker

(WORKER_ID,FIRST NAME LAST NAME,SALARY,JOININ
NT)

Write the SQL queries for the following:

a. Write An SQL Query To Print The FIRST _ NAME A
Worker Table Into A Single Column COMPLET(E'
Separate Them, 3

b. Write An SQL Query That Fetches The
Worker Table And Prints Its Length: ¥

¢. Write An SQL Query To Print F 1,1;{o‘,‘t"l‘11ree'C'w
Worker Table, b A

b s b A TP

: » PHONE_NUMBER
OMMISSION PCT » MANAGER ID ,

{ q:ﬁ K ﬂlgpla he first nai ; \
depai'tment namg for b émpioye

Attempt\v&gg thgeghf‘fhe‘fblluwmgw 15
List th ACID propet ties: Explain the, Usefulness of each.
1in'the "'\’nbept 6£,seriallzab111ty and explain in detail view serializability.
ncure ré 611'? Explain in detail the main features of concurrent
[PTO]
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= T raper / Subject Code: 80704 / Database Management Syste

f 7, ‘ _'.. g: ’fﬁ
% TYPE attributes and how it is bene_:ﬁbi
; P b i)

es of implicit cursor with GX&I‘HRLE?;# ;
‘ Raise_Application_Error () with exam
1 the various features of PL/SQL & 3lso.d
ubprograms.

Packages in PL/SQL? List and explaiti the variou

ickage to display the employee name and salary
© triggers? Explain the syntax for oreating a ri
trigger in PL/SQL. s &

k!
I
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3.  Attempt any three of the following:

a. S 0 A ¢ 0<r
Find the Laplace transform of f0)= :;sr 2 T
b. S
Evaluate by using Laplace transform f riee‘v" '
S
¢.  Find the Laplace transform of the follgi}\qing“*?
‘ : e ke
% +3yO)+2[y()dt =1, gives® #(0)=0
d. : S

e
t AD X
N “.'*;;_"
e Find inverse Laplace ﬂagbfﬁtm‘ez‘}

by

0
R

e

Find the inverse Laplace tra )

" Find the Laplace trarp@i;n

Y
P
A

SO el

4 Attempt gy threg of thie followis
"\:”Hsﬂw;‘ SRS S

Evaluate : If@@ e dy
A 54 = ::- ’ ;

U%: ik X ;-

ol 2
N
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